DAVID BRODE

& A S S O C I AT E S

Terminal Value Equations

Overview:
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II. Forecasting Incremental ROE
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III. Forecasting Average ROE
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IV. The Relationship between the Average and Incremental Methods

Corporate Finance

2340 Francisco Street, Suite 302
San Francisco, California 94123
TEL 415.885.0192
FAX 415.885.0193



Terminal Value Equations: Page 3

Step L. TEV, = EChy (continued)
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Step II. Forecasting ECF using Net Income: Incremental Spread
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III. Forecasting Average ROE

TEV, = B, RO —8
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IV. The Relationship between the Average and Incremental Methods
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